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Math 8 - Monomial Review
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28. Creafe a monomial problem that involves multiplication

whose answer is: (-8x%y?®).
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29. Create a monomial problem that involves addition whose

answer is: (78x3y6). DL L
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Part II

Choose the best answer for each question.

1. Which is equivalent to r*s8?

a. (rs)t? b. (rfs)?

2. What is the quotient of

a. 2xty b. 13x%y?

3. The sum of 6x% and 4%y is

b. 10xty?

4, Which is a true statement?
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5. The product of -3xy? and 5x?y® is ( - 8 P tj 1\/( é 7&1":23%)
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a. -8x%y° b. -15x3y® c. -15x%y5 d. -15x%y

6. Subtract: 5xy? - 11xy?

a. 6 b. 6xy%c. -6xy

7. Which is not equivalent to n*?
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a. n?'n? ' b. (n?)?

8. Are -5 and (-5)> equivalent e>££}*essions? Explain your answer.
” 7
o ) (—~5\ = 25 -5" = -35
9. Find the value of x that makes each statement true. C N0 /\\‘éﬁ K4l OvE 4
D \oung =fHUAT

r
a. rrr2=16 b, — =1 c rrrri=1 d. (r)*=rd
r

X =4 =3 x=n KoY



10. Perform the indicated operation.
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